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fyrir 
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for 
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(2009/2010)

Snorri Sigfús Birgisson:



This piece was composed at the request of 

The Symphony Orchestra of the Music Schools in Iceland.

 

The movements are independent and can be performed separately or two 

movements together. For such performances the piece is called, respectively:

Movement from A Fairy Tale I Knew or Two Movements from A Fairy Tale I Knew.

Percussion 1

Snare Drum 

Tuned Gongs (ab, bb, c', eb', g')

Wood Block (h)

Temple Blocks

Percussion 2

Snare Drum

Ride Cymbal (m)

Bongos

2 Congas

2 Timbales (ml, l)

Percussion 3

Tenor Drum

6 Ride Cymbals (l-h)

Tam-tam

Bass Drum

Þetta verk var samið að tilstuðlan Sinfóníuhljómsveitar tónlistarskólanna. 

Kaflar verksins eru sjálfstæðir og ekki er nauðsynlegt að leika þá alla  saman. 

Séu færri en þrír kaflar leiknir á tónleikum heitir verkið  annars vegar 

Þáttur úr Ævintýri og hins vegar Tveir þættir úr Ævintýri.   
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